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Thih
1 13

a 13 0 so 13 or 7
X 7 0

b 2 3 0 so 3 or

3x 7 0

c 0
X 3 0

50 0 or 3

e
2
2x 35 0

x 776 5

X 7 0 so 7 or 5

5 0

f 3 4 14 5 0

3 2 15 1 5 0
3

2 15 3 5 0

3 5 1 5 0
3 1 5 0



C

so X 3 or X 5

1 18

a The variable y depends on the
variable X X is the independent
variable

b Temperature is dependent the
time of day is independent

c

EE

time of day

1 21

a f 3 3 3 3 b 5 3 3

3 3 3

2 3 _32
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3
f 3 1 22
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c g 3 21 3725 d 7 2
2
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219 5
5 s

18 5 2 21
913 13 FIX

no real solution
e 8 2

2
5 f 9 2 2 5

5 5 5 5

13 2 2

Σ I 11 21
2

E IT F X

VE X F X

1 25

3 x 2 7 2 17

3 6 2x 14 2 17

8 2 17
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